Angle between 2 planes

Find the acute angle between the planes 2x + 3y -4z=6andx-y + 2z =2

angle between two planes = angle between normals

There are two possible angles between 2 planes: an acute and an obtuse angle

2X+3y-4z=6 1x-1y +2z=2

2 1
Normal = ( 3 ) Normal = (—1)
—4 2

2 1
Find angle between two direction vectors < 3 ) and (—1)

Angle between 2 vectorsaand b

0 a-b
cosf = ——
lal|b|
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2 1
(3)-(—1)=2-1+3-(—1)+(—4)-2
—4 2

= -9

=22 +32+(—4)>= V29

=12+ (-1)?+2°= V6

-9

co0sO = —
V29V6

0 ~133°

Angle between planes = 47° or 133°

Acute angle between planes = 47°
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